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BT-301 (AU/CE/CM/EC/IP/ME) (CBGS)
B.Tech., ITI Semester

Examination, November 2019

Choice Based Grading System (CBGS)

Mathematics-I11

Time : Three Hours
Maximum Marks : 70

Note: i) Attemptany five questions. §®
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ii) All questionsca &qﬁf marks.
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iii)In case of an@gdoubt or dispute the English version
question should be treated as final.
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1. a) Solve the equation 3x = cosx + 1 by Newton-Raphson
method.

aflaor 3x = cosx + | @ ﬂ@ﬂ-i‘f%ﬁﬁlﬁm GG
R

b) Prove that Alog f(x)=log {l + ﬁ;r([j))}

firg AR ﬁlogf(x):log{l+-if—g))—}
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2. a) Givensind5®=0.7071, sm50° =0.7660, sin35° =0.8192,
sin 60° =0.8660, find sin 52°, by using Newton's forward
difference interpolation formula.

fgar a1 @ sin 45° =.0.7071, sin50° = 0.7660,
sin55° = 0.8192, sin 60° = 0.8660, ~Ig- HRAS [EHT
A GRT sin 52° &l S Hifor

b) Find f(8) by using Newton's divided difference formula
from the following data ~ _ -
~ci fearses fomdw 7 g1, Feefoia srerd £(8)
B T DR |

X 4 5 7 10 11 13
fx): 48 100 294 900 1210 2028

3. a) Find the first and second order derivative at the point

x = 1.5 for the following data.
x: 1.5 20 25 30 35 4.0
f(x):3.375 7.000 13.625 24.000 38.875 59.000

fr=rforRaa s & R e ug fidta 1 & sgaeri @)

x= 1.5 % for s Hiforn
X 15 20 25 30 35 4.0
F(x): 3.375 7.000 13.625 24.000 38.875 59.000
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X
b) Find the value of log2 from ‘[—l P dx, using Simpson's
0

]
3 rule by dividing it, into four equal parts.
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4. a) Solve the following equations by Jacobi's method:
10x+2y+3z=15
x+7y+2z=10
4x+2y+10z=16
PreferRae wieol @ St Rty grT s HIRRY
10x+2y+.3z =15
x+7y+2z=10
4x+2y+10z=16

b) Solve the equation by Gaus k\@ninaﬁon method

2x+y+4z=12
8x—3y+2z=23 \Q(b”
4x+11y-z= :&%
wHitesee} @t - CelifRR e faftr grT g HiRR
2x+y+4z=12
8x-3y+22=23 5‘%
dx+1ly-z=33

5. a) Use Euler's method to find y (0.4) from the differential

d
equation E)’ = xy, ¥(0) =1 where step size is A =0.1.
d w
3FaheT FHIERO E}?xy, ¥(0) =1 = 3iiger fafyr g
y (0.4) B 57 HifoRy| Safd w9 R 2 =0.1 8
b) Use Runge-Kutta method to approximate y, whenx =0.1,
. dy

given that x=0, wheny=1 and 4 =x+y,
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B-gee] fafd & gRT x=0.1 TR y 1 31 HIA, Rz

d
Ex=0v4P y=11q iaﬁy.

Find L{e qmr+ﬂ}
t

sint

L {e”sm r+—} FI ST IR

sin I
Evaluate { _E }

{15 4)

Evaluate 7! { —‘H'-l—}
s° + 65+ 25

L {~*—1}zmsrmeﬁrﬁm
s+ 65+ 25
8
Solve (Dz +9J y=cos2t if Y(0)= ],}-’(E]zﬁl

gl o’y (Dz +9Jy=co:92£,z[ﬁ|' y(0) = l,y(ng—]

Find the mean and variance of the Poisson's distribution.

R fETEIe e ol H1ey TF HRRYT 311 iford|
Six dice are thrown 729 times. How many times do you
expect at least three dice to show a five or six.

B: URA D 729 IR havl 7T 81 A9 e AR 7 9=fig
il fF 9 | 39 I 5 o 6 R
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